

NOTE ON THE RECIPROCAL OF POWER SERIES ASSOCIATED WITH INCOMPLETE DEGENERATE LAH-BELL POLYNOMIALS

HYE KYUNG KIM¹ AND DMITRY V. DOLGY^{2,*}

ABSTRACT. In this paper, we aim to find the reciprocal formal power series associated with the incomplete degenerate Lah-Bell polynomials. For our purposes, we first consider a new type of both degenerate incomplete and complete Lah-Bell polynomials as a multivariate version of a new type of degenerate Lah-Bell polynomials, and derive some identities for them. Second, we derive the reciprocal formal power series associated with our incomplete degenerate Lah-Bell polynomials and give new polynomials associated with these incomplete degenerate Lah-Bell polynomials including an expression for the reciprocal of the degenerate exponential function.

1. INTRODUCTION

Existence problems such as reciprocal numbers, reciprocal (or inverse) matrices, reciprocal (or inverse) functions, etc. are important in mathematics [3, 5, 8, 14, 15]. Shingh showed that the coefficients of reciprocal power series were expressed the finite sum of partial ordinary (or incomplete) Bell polynomials by using Faa di Brunos’s formula [14]. In addition, Kim et al. introduced some new polynomials associated with the incomplete degenerate Bell polynomials [7].

In this paper, we divide two parts to study the reciprocal formal power series associated with the incomplete degenerate Lah-Bell polynomials. In the first part, we introduce new types of both degenerate complete and incomplete Lah-Bell polynomials, and derive some relations for them. In the second part, we derive the reciprocal formal power series associated with this new type of incomplete degenerate Lah-Bell polynomials and give new polynomials associated with this new type of incomplete degenerate Lah-Bell polynomials. In particular, we deduce the new polynomials $Z_n^\lambda(x_1, x_2, \dots, x_n)$ associated with the degenerate incomplete Lah-Bell polynomials. As a corollary, we obtain an expression for the reciprocal of the degenerate exponential function $e_\lambda(\frac{1}{1-at})$.

As is well known, for any $\lambda \in \mathbb{R}$,

$$e_\lambda^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}, \quad (\text{see [2, 9 – 12]}),$$

where $(x)_{0,\lambda} = 1$ and $(x)_{n,\lambda} = x(x - \lambda) \cdots (x - (n - 1)\lambda)$, $(n \geq 1)$.

When $\lambda = 1$, $(x)_0 = 1$ and $(x)_n = x(x - 1) \cdots (x - (n - 1))$, $(n \geq 1)$.

T. Kim considered the complete degenerate Bell polynomials given by

$$(1) \quad \exp\left(\sum_{i=1}^{\infty} (1)_{i,\lambda} x_i \frac{t^i}{i!}\right) = \sum_{n=0}^{\infty} B_n^{(\lambda)}(x_1, x_2, \dots, x_n) \frac{t^n}{n!}, \quad (\text{see [11]}).$$

The incomplete degenerate Bell polynomials are given by

$$(2) \quad \frac{1}{k!} \left(\sum_{i=1}^{\infty} (1)_{i,\lambda} x_i \frac{t^i}{i!}\right)^k = \sum_{n=k}^{\infty} B_{n,k}^{(\lambda)}(x_1, x_2, \dots, x_{n-k+1}) \frac{t^n}{n!}, \quad (\text{see [11]}),$$

2010 *Mathematics Subject Classification.* 05A15; 11B73; 11B83 .

Key words and phrases. Reciprocal numbers; Lah-Bell numbers and polynomials; complete Bell polynomials; incomplete Bell polynomials; Stirling numbers of second kind.

* is corresponding author.

and $B_{0,0}^{(\lambda)}(x_1, x_2, \dots, x_{n+1}) = 1$, $b_{n,0}^{(\lambda)}(x_1, x_2, \dots, x_{n+1}) = 0$, ($n \in \mathbb{N}$).

In particular, $B_{n,k}^{(\lambda)}(1, 1, \dots, 1) = Bel_{n,\lambda}$, ($n \geq 0$),

where $\sum_{n=0}^{\infty} Bel_{n,\lambda} \frac{t^n}{n!} = \exp(e_\lambda(t) - 1)$, (see [12]).

Let the unsigned Lah-number $L(n, k)$ counts the number of partitions of a set with $1, 2, \dots, n$ elements into k ordered blocks with no box left empty.

It is well known that Lah numbers and the generating function of Lah-numbers respectively are given by

$$L(n, k) = \frac{n!}{k!} \binom{n-1}{k-1}, \quad \text{and} \quad \frac{1}{k!} \left(\frac{t}{1-t} \right)^k = \sum_{n=k}^{\infty} L(n, k) \frac{t^n}{n!}, \quad (\text{see [3, 6, 9, 13]}).$$

The Lah-Bell polynomials is given by

$$Lb_n = \sum_{k=0}^{\infty} L(n, k) x^k, \quad (n \geq 0), \quad (\text{see [6]}),$$

and the generating function of Lah-Bell polynomials is given by

$$(3) \quad e^{x \left(\frac{t}{1-t} \right)} = \sum_{n=0}^{\infty} Lb_n(x) \frac{t^n}{n!}, \quad (\text{see [6, 9, 13]}).$$

When $x=1$, Lb_n are called the Lah-Bell numbers.

Kim-Kim introduced the degenerate Lah-Bell polynomials given by the generation function

$$e_\lambda^x \left(\frac{t}{1-t} \right) = \sum_{n=0}^{\infty} B_{n,\lambda}^L(x) \frac{t^n}{n!}, \quad (\text{see [6]}).$$

On the other hand, Kim-Lee introduced another degenerate Lah-Bell polynomials given by the generation function

$$e_\lambda \left(x \frac{t}{1-t} \right) = \sum_{n=0}^{\infty} b_{n,\lambda}^L(x) \frac{t^n}{n!}, \quad (\text{see [9]}).$$

2. SOME IDENTITIES OF A NEW TYPE OF COMPLETE AND INCOMPLETE DEGENERATE LAH-BELL POLYNOMIALS

In this section, we introduce new types of both degenerate complete and incomplete Lah-Bell polynomials, and derive some relations for them.

We define a new type of degenerate Lah-number $L_\lambda(n, k)$ by

$$(4) \quad \frac{1}{k!} \left(\sum_{i=1}^{\infty} (1)_{i,\lambda} t^i \right)^k = \sum_{n=0}^{\infty} L_\lambda(n, k) \frac{t^n}{n!}.$$

When $\lambda \rightarrow 0$, $L_\lambda(n, k) = L(n, k)$.

In view of the Lah-Bell polynomials, we give the degenerate Lah-Bell polynomials $Lb_{n,\lambda}(x)$ by

$$(5) \quad Lb_{n,\lambda}(x) = \sum_{k=0}^n L_\lambda(n, k) x^k.$$

From (4) and (5), we get the generating function of the degenerate Lah-Bell polynomials $Lb_{n,\lambda}(x)$ as follows.

$$(6) \quad \sum_{n=0}^{\infty} Lb_{n,\lambda}(x) \frac{t^n}{n!} = \exp \left(x \left(\sum_{i=1}^{\infty} (1)_{i,\lambda} t^i \right) \right).$$

When $\lambda \rightarrow 0, Lb_{n,\lambda}(x) = Lb_n(x)$.

When $x = 1, Lb_{n,\lambda} = Lb_{n,\lambda}(1)$ are called the degenerate Lah-Bell numbers.

As a multivariate version of a new type of degenerate Lah numbers, we introduce the incomplete degenerate Lah-Bell polynomials given by

$$(7) \quad \frac{1}{k!} \left(\sum_{m=1}^{\infty} (1)_{m,\lambda} x_m t^m \right)^k = \sum_{n=k}^{\infty} LV_{n,k}^{\lambda}(x_1, x_2, \dots, x_{n-k+1}) \frac{t^n}{n!},$$

where $LV_{0,0}^{\lambda}(x_1, x_2, \dots, x_{n+1}) = 1$ and $LV_{n,0}^{\lambda}(x_1, x_2, \dots, x_{n+1}) = 0, (n \in \mathbb{N})$.

As another multivariate version of a new type of degenerate Lah-Bell polynomials, we naturally introduce the complete degenerate Lah-Bell polynomials $LV_n^{\lambda}(x_1, \dots, x_n)$ given by

$$(8) \quad \exp \left(\sum_{m=1}^{\infty} (1)_{m,\lambda} x_m t^m \right) = \sum_{n=0}^{\infty} LV_n^{\lambda}(x_1, \dots, x_n) \frac{t^n}{n!}.$$

Theorem 1. For $n \geq 0$, we have

$$(9) \quad \begin{aligned} LV_{n,k}^{\lambda}(1, 1, \dots, 1) &= L_{\lambda}(n, k) \\ \text{and } LV_n^{\lambda}(x, \dots, x) &= Lb_{n,\lambda}(x). \end{aligned}$$

In addition, when $x = 1, LV_n^{\lambda}(1, 1, \dots, 1) = Lb_n^{\lambda}$.

Proof. By (4), we observe that

$$(10) \quad \sum_{n=0}^{\infty} LV_n^{\lambda}(x, \dots, x) \frac{t^n}{n!} = \exp \left(x \sum_{m=1}^{\infty} (1)_{m,\lambda} t^m \right) = \sum_{n=0}^{\infty} Lb_{n,\lambda}(x) \frac{t^n}{n!}.$$

Therefore, from (10), we have

$$LV_n^{\lambda}(x, \dots, x) = Lb_{n,\lambda}(x).$$

By (7), we observe that

$$(11) \quad \sum_{n=k}^{\infty} LV_{n,k}^{\lambda}(1, 1, \dots, 1) \frac{t^n}{n!} = \frac{1}{k!} \left(\sum_{m=1}^{\infty} (1)_{m,\lambda} t^m \right)^k = \sum_{n=k}^{\infty} L_{\lambda}(n, k) \frac{t^n}{n!}.$$

Therefore, from (11), we have

$$LV_{n,k}^{\lambda}(1, 1, \dots, 1) = L_{\lambda}(n, k).$$

□

Theorem 2. For $n \geq 0$, we have

$$(12) \quad LV_n^{\lambda}(x_1, x_2, \dots, x_n) = \sum_{k=0}^n LV_{n,k}^{\lambda}(x_1, x_2, \dots, x_{n-k+1}) \quad (n \geq 0).$$

Proof. We observe that

$$\begin{aligned}
 \sum_{n=0}^{\infty} LV_n^\lambda(x_1, x_2, \dots, x_n) \frac{t^n}{n!} &= \exp\left(\sum_{m=1}^{\infty} (1)_{m,\lambda} x_m t^m\right) \\
 &= \sum_{k=0}^{\infty} \frac{1}{k!} \left(\sum_{m=1}^{\infty} (1)_{m,\lambda} x_m t^m\right)^k \\
 &= \sum_{k=0}^{\infty} \sum_{n=k}^{\infty} LV_{n,k}^\lambda(x_1, x_2, \dots, x_{n-k+1}) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n LV_{n,k}^\lambda(x_1, x_2, \dots, x_{n-k+1})\right) \frac{t^n}{n!}.
 \end{aligned}
 \tag{13}$$

Therefore, from (13), we have the result. \square

Theorem 3. For $n \geq k \geq 1$, we have

$$LV_{n,k}^\lambda(x_1, x_2, \dots, x_{n-k+1}) = \sum_{l=0}^{n-k} h(n-1)_h (1)_{h+1,\lambda} x_{h+1} Lb_{n-h-1,k-1}^\lambda(x_1, \dots, x_{n-h-k+1}).$$

Proof. For $n, k \in \mathbb{Z}$ with $n \geq k \geq 1$, differentiating on both sides of (7) with respect to t ,

$$\begin{aligned}
 \sum_{n=k}^{\infty} LV_{n,k}^\lambda(x_1, x_2, \dots, x_{n-k+1}) \frac{t^{n-1}}{(n-1)!} &= \frac{1}{(k-1)!} \left(\sum_{m=1}^{\infty} (1)_{m,\lambda} x_m t^m\right)^{k-1} \left(\sum_{h=1}^{\infty} (1)_{h,\lambda} x_h h! t^{h-1}\right) \\
 &= \sum_{m=k-1}^{\infty} LV_{m,k-1}^\lambda(x_1, x_2, \dots, x_{m-k+2}) \frac{t^m}{m!} \sum_{h=1}^{\infty} (1)_{h,\lambda} x_h h! \frac{t^{h-1}}{(h-1)!} \\
 &= \sum_{n=k}^{\infty} \sum_{h=1}^{n-k+1} \binom{n-1}{h-1} (1)_{h,\lambda} x_h h! LV_{n-h,k-1}^\lambda(x_1, \dots, x_{n-h-k+2}) \frac{t^{n-1}}{(n-1)!} \\
 &= \sum_{n=k}^{\infty} \sum_{h=0}^{n-k} h(n-1)_h (1)_{h+1,\lambda} x_{h+1} LV_{n-h-1,k-1}^\lambda(x_1, \dots, x_{n-h-k+1}) \frac{t^{n-1}}{(n-1)!}.
 \end{aligned}
 \tag{14}$$

By comparing with coefficients of (14), we have the desired result. \square

Theorem 4. For $n \geq 0$, we have

$$LV_{n+1}^\lambda(x_1, x_2, \dots, x_{n+1}) = \sum_{m=0}^n (n)_m (m+1) (1)_{m+1,\lambda} x_{m+1} LV_{n-m}^\lambda(x_1, x_2, \dots, x_{n-m}).$$

Proof. Differentiating on both sides of (8) with respect to t , the left side of (8) is

$$\begin{aligned}
 \sum_{m=1}^{\infty} (1)_{m+1,\lambda} x_m m t^{m-1} \exp\left(\sum_{m=1}^{\infty} (1)_{m,\lambda} x_m t^m\right) &= \sum_{m=0}^{\infty} (1)_{m+1,\lambda} x_{m+1} (m+1)! \frac{t^m}{m!} \sum_{l=0}^{\infty} LV_l^\lambda(x_1, x_2, \dots, x_l) \frac{t^l}{l!} \\
 &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n (n)_m (m+1) (1)_{m+1,\lambda} x_{m+1} LV_{n-m}^\lambda(x_1, x_2, \dots, x_{n-m})\right) \frac{t^n}{n!}.
 \end{aligned}
 \tag{15}$$

On the other hand, the right side of (8) is

$$(16) \quad \sum_{n=1}^{\infty} LV_n^\lambda(x_1, x_2, \dots, x_n) \frac{t^{n-1}}{(n-1)!} = \sum_{n=0}^{\infty} LV_{n+1}^\lambda(x_1, x_2, \dots, x_{n+1}) \frac{t^n}{n!}.$$

By comparing with coefficients of (15) and (16), we have what we want. \square

From (1), (2), (8) and (7), we have the following explicit formulas.

Theorem 5. For $n \geq 0$, we have

$$(17) \quad \begin{aligned} LV_n^\lambda(x_1, x_2, \dots, x_n) &= B_n^{(\lambda)}(1!x_1, 2!x_2, \dots, n!x_n) \\ &= \sum_{l_1+2l_2+\dots+nl_n=n} \frac{n!}{l_1!l_2!\dots l_n!} \left((1)_{1,\lambda}x_1 \right)^{l_1} \left((1)_{2,\lambda}x_2 \right)^{l_2} \dots \left((1)_{n,\lambda}x_n \right)^{l_n}, \end{aligned}$$

and

$$(18) \quad \begin{aligned} LV_{n,k}^\lambda(x_1, x_2, \dots, x_{n-k+1}) &= B_{n,k}^{(\lambda)}(1!x_1, 2!x_2, \dots, (n-k+1)!x_{n-k+1}) \\ &= \sum_{\substack{l_1+l_2+\dots+l_{n-k+1}=k \\ l_1+2l_2+\dots+(n-k+1)l_{n-k+1}=n}} \frac{n!}{l_1!l_2!\dots l_{n-k+1}!} \\ &\quad \times \left((1)_{1,\lambda}x_1 \right)^{l_1} \left((1)_{2,\lambda}x_2 \right)^{l_2} \dots \left((1)_{n-k+1,\lambda}x_{n-k+1} \right)^{l_{n-k+1}}, \end{aligned}$$

$$\text{and } LV_{0,0}^\lambda(x_1, x_2, \dots, x_{n+1}) = 1, \quad LV_{n,0}^\lambda(x_1, x_2, \dots, x_{n+1}) = 0.$$

3. THE RECIPROCAL OF POWER SERIES ASSOCIATED WITH INCOMPLETE DEGENERATE LAH-BELL POLYNOMIALS

In this section, we derive the reciprocal formal power series associated with this new type of incomplete degenerate Lah-Bell polynomials and give new polynomials associated with this new type of incomplete degenerate Lah-Bell polynomials.

Theorem 6. For $n, k \in \mathbb{Z}$ with $n \geq k \geq 1$, we have

$$\begin{aligned} LV_{n,k}^\lambda(x_1, x_2, \dots, x_{n-k+1}) &= \frac{1}{k} \sum_{h=0}^{n-k} \binom{n}{h+1} (h+1)! (1)_{h+1,\lambda} x_{h+1} LV_{n-h-1,k-1}^\lambda(x_1, \dots, x_{n-h-k+1}). \end{aligned}$$

Proof. From (7), we obtain

$$(19) \quad \begin{aligned} &\sum_{n=k}^{\infty} LV_{n,k}^\lambda(x_1, x_2, \dots, x_{n-k+1}) \frac{t^n}{n!} \\ &= \frac{1}{k} \frac{1}{(k-1)!} \left(\sum_{m=1}^{\infty} (1)_{m,\lambda} x_m t^m \right)^{k-1} \left(\sum_{m=1}^{\infty} (1)_{m,\lambda} x_m t^m \right) \\ &= \frac{1}{k} \sum_{h=k-1}^{\infty} LV_{h,k-1}^\lambda(x_1, x_2, \dots, x_{h-k+2}) \frac{t^h}{h!} \sum_{m=1}^{\infty} (1)_{m,\lambda} x_m m! \frac{t^m}{m!} \\ &= \frac{1}{k} \sum_{n=k}^{\infty} \sum_{h=k-1}^{n-1} \binom{n}{h} (n-h)! (1)_{n-h,\lambda} x_{n-h} LV_{h,k-1}^\lambda(x_1, \dots, x_{h-k+2}) \frac{t^n}{n!}. \end{aligned}$$

By comparing coefficients both side of (19),

$$(20) \quad LV_{n,k}^\lambda(x_1, x_2, \dots, x_{n-k+1}) = \frac{1}{k} \sum_{h=k-1}^{n-1} \binom{n}{h} (n-h)! (1)_{n-h, \lambda} x_{n-h} LV_{h,k-1}^\lambda(x_1, \dots, x_{h-k+2})$$

Since $\binom{n}{h+1} = \binom{n}{n-h-1}$, by replacing h by $n-h-1$ in (20), we get

$$Lb_{n,k}^\lambda(x_1, x_2, \dots, x_{n-k+1}) = \frac{1}{k} \sum_{h=0}^{n-k} \binom{n}{h+1} (h+1)! (1)_{h+1, \lambda} x_{h+1} Lb_{n-h-1, k-1}^\lambda(x_1, \dots, x_{n-h-k+1}).$$

□

Theorem 7. Assume $\sum_{l=0}^{\infty} (1)_{l, \lambda} a_l t^l \sum_{m=0}^{\infty} \frac{(1)_{m, \lambda}}{m!} b_m t^m = 1$ with $a_0 = 1$. Then we have

$$(21) \quad (1)_{0, \lambda} b_0 = 1, \quad (1)_{n, \lambda} b_n = \sum_{k=1}^n (-1)^k k! LV_{n,k}^\lambda(a_1, \dots, a_{n-k+1}), \quad (n \geq 1).$$

Proof. We observe that

$$(22) \quad \sum_{h=0}^{\infty} (1)_{h, \lambda} a_h t^h \sum_{m=0}^{\infty} \frac{(1)_{m, \lambda}}{m!} b_m t^m = \sum_{n=0}^{\infty} \sum_{h=0}^n \binom{n}{h} h! (1)_{h, \lambda} a_h (1)_{n-h, \lambda} b_{n-h} \frac{t^n}{n!} = 1.$$

From (22), we have

$$(23) \quad (1)_{0, \lambda} b_0 = 1, \quad \sum_{h=0}^n \binom{n}{h} h! (1)_{h, \lambda} a_h (1)_{n-h, \lambda} b_{n-h} = 0, \quad (n \geq 1).$$

From (23), we get

$$(24) \quad (1)_{n, \lambda} b_n = - \sum_{h=1}^n \binom{n}{h} h! (1)_{h, \lambda} a_h (1)_{n-h, \lambda} b_{n-h}.$$

By using induction on $n \geq 1$ to proof (21), when $n = 1$,

$$(1)_{1, \lambda} b_1 = -(1)_{1, \lambda} a_1 = \sum_{k=1}^1 LV_{1,1}^\lambda(a_1) (-1)^k k!.$$

Assume $n \geq 1$ and (21) hold for all positive integers smaller than n .

Combining by (21) and Theorem 3.1, we obtain

$$\begin{aligned}
 (1)_{n,\lambda} b_n &= - \sum_{h=1}^n \binom{n}{h} h! (1)_{h,\lambda} a_h (1)_{n-h,\lambda} b_{n-h} \\
 &= -n! (1)_{n,\lambda} a_n - \sum_{h=1}^{n-1} \binom{n}{h} h! (1)_{h,\lambda} a_h \sum_{k=1}^{n-h} LV_{n-h,k}^\lambda(a_1, \dots, a_{n-h-k+1}) (-1)^k k! \\
 &= -n! (1)_{n,\lambda} a_n - \sum_{k=1}^{n-1} (-1)^k k! \sum_{h=1}^{n-k} \binom{n}{h} h! (1)_{h,\lambda} a_h LV_{n-h,k}^\lambda(a_1, \dots, a_{n-h-k+1}) \\
 &= -n! (1)_{n,\lambda} a_n - \sum_{k=2}^n (-1)^{k-1} (k-1)! \sum_{h=1}^{n-k+1} \binom{n}{h} h! (1)_{h,\lambda} a_h LV_{n-h,k-1}^\lambda(a_1, \dots, a_{n-h-k+2}) \\
 &= -n! (1)_{n,\lambda} a_n - \sum_{k=2}^n (-1)^{k-1} (k-1)! \sum_{h=0}^{n-k} \binom{n}{h+1} (h+1)! \\
 &\quad \times (1)_{h+1,\lambda} a_{h+1} LV_{n-h-1,k-1}^\lambda(a_1, \dots, a_{n-h-k+1}) \\
 &= - \sum_{k=1}^n (-1)^{k-1} (k-1)! \sum_{h=0}^{n-k} \binom{n}{h+1} (h+1)! (1)_{h+1,\lambda} a_{h+1} LV_{n-h-1,k-1}^\lambda(a_1, \dots, a_{n-h-k+1}) \\
 &= \sum_{k=1}^n (-1)^k k! \frac{1}{k} \sum_{h=0}^{n-k} \binom{n}{h+1} (h+1)! (1)_{h+1,\lambda} a_{h+1} LV_{n-h-1,k-1}^\lambda(a_1, \dots, a_{n-h-k+1}) \\
 &= \sum_{k=1}^n (-1)^k k! LV_{n-h-1,k-1}^\lambda(a_1, \dots, a_{n-h-k+1}).
 \end{aligned}$$

Thus, we arrive at the desired result. □

From Theorem 3.2, we have a new type associated with incomplete degenerate Lah-bell polynomials $Z_n^\lambda(a_1, a_2, \dots, a_n)$ given by

$$(25) \quad Z_n^\lambda(a_1, a_2, \dots, a_n) = \sum_{k=1}^n (-1)^k k! LV_{n,k}^\lambda(a_1, a_2, \dots, a_{n-k+1}), \quad Z_0^\lambda(a_1, a_2, \dots, a_n) = 1.$$

In other words,

$$\sum_{n=0}^{\infty} Z_n^\lambda(a_1, a_2, \dots, a_n) \frac{t^n}{n!} = \frac{1}{1 + a_1(1)_{1,\lambda}t + a_2(1)_{2,\lambda}t^2 \dots}.$$

We note that

$$\sum_{n=0}^{\infty} Z_n^\lambda(a_1, a_2, \dots, a_n) \frac{t^n}{n!} = 1 + \sum_{n=1}^{\infty} \left(\sum_{k=1}^n (-1)^k k! LB_{n,k}^\lambda(a_1, \dots, a_{n-k+1}) \right) \frac{t^n}{n!}.$$

Corollary 8. For $n, k \in \mathbb{Z}$ with $n \geq k \geq 1$, we have

$$\sum_{n=0}^{\infty} Z_n^\lambda(a, a, \dots, a) \frac{t^n}{n!} = \frac{1}{e_{\lambda}\left(\frac{1}{1-at}\right)} = e_{\lambda}^{-1}\left(\frac{1}{1-at}\right).$$

In particular,

$$\sum_{n=0}^{\infty} Z_n^\lambda(1, 1, \dots, 1) \frac{t^n}{n!} = \sum_{i=0}^n \sum_{m=0}^i \frac{1}{(m-i)!} (-1)_{m,\lambda} L(n, i).$$

Proof. From Theorem 3.2, we observe that

$$\begin{aligned}
 \sum_{n=0}^{\infty} Z_n^\lambda(1, 1, \dots, 1) \frac{t^n}{n!} &= \frac{1}{e_{\lambda}\left(\frac{1}{1-t}\right)} = e_{\lambda}^{-1}\left(\frac{1}{1-t}\right) \\
 &= \sum_{m=0}^{\infty} (-1)_{m,\lambda} \frac{1}{m!} \sum_{i=0}^m \binom{m}{i} \left(\frac{t}{1-t}\right)^i \\
 (26) \quad &= \sum_{m=0}^{\infty} (-1)_{m,\lambda} \frac{1}{m!} \sum_{i=0}^m \binom{m}{i} i! \sum_{n=i}^{\infty} L(n, i) \frac{t^n}{n!} \\
 &= \sum_{m=0}^{\infty} \sum_{i=0}^m \sum_{n=i}^{\infty} \frac{1}{(m-i)!} (-1)_{m,\lambda} L(n, i) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \sum_{i=0}^n \sum_{m=0}^i \frac{1}{(m-i)!} (-1)_{m,\lambda} L(n, i) \frac{t^n}{n!}.
 \end{aligned}$$

Therefore, we get the desired result. \square

REFERENCES

- [1] Bell, E.T. (1934) Exponential polynomials. *Ann. Math.*, 35, 258-277
- [2] Carlitz, L. (1979) Degenerate Stirling, Bernoulli and Eulerian numbers, *Utilitas Math.*, 15, 51-88.
- [3] Comtet, L. (1974) *Advanced Combinatorics: The Art of Finite and Infinite Expansions*, Reidel, Dordrecht.
- [4] Cvijović, D. (2011) New identities for the partial Bell polynomials. *Appl. Math. Mon. Lett.*, 24, 1544-1547
- [5] Dixit, A., Moll, V. Self-reciprocal functions, power of the Riemann Zeta function and modular-type transformations, arXiv:1312.1232v1.
- [6] Kim, D. S., Kim, T. (2020) Lah-Bell numbers and polynomials, *Proc. Jangjeon Math. Soc.*, 23(4), 577-586.
- [7] Kim, D. S., Kim, T. (2020) A Note on a New Type of Degenerate Bernoulli Numbers, *Russ. J. Math. Phys.* 27(2), 227-235.
- [8] Kim, D.S., Kim, T., Lee, S. H., Park, J. W. (2021) Some new formulae of complete and incomplete degenerate Bell polynomials, *Adv. Difference Equ.*, 2021:326, pp.10.
- [9] Kim, H. K., Lee, D. S. (2021) Degenerate s -extended complete and incomplete Lah-Bell polynomials, DOI: 10.13140/RG.2.2.35635.35367/1.
- [10] Kim, T. (2017) A note on degenerate Stirling polynomials of the second kind, *Proc. Jangjeon Math. Soc.*, 20(3), 319-331.
- [11] Kim, T. (2017) Degenerate complete bell polynomials, *Proc. Jangjeon Math. Soc.*, 20(4), 533-543.
- [12] Kim, T., Kim, D. S., Dolgy, D. V. (2017) On partially degenerate Bell numbers and polynomials, *Proc. Jangjeon Math. Soc.* 20(3), 337-345.
- [13] Kim, T., Kim, D.S., Jang, L.C., Lee, H., Kim, H.-Y. (2021) Complete and incomplete Bell polynomials associated with Lah-Bell numbers and polynomials, *Adv. Difference Equ.*, 2021:101, 12pp.
- [14] Singh, M. (1990) n th-order derivatives of certain inverses and the Bell polynomials, *Jour. of Physis: Mathematical and General*, 23(12), 2307-2317.
- [15] Zhao, X. Wang, T. (2003) Some identities related to reciprocal functions *Discrete Math.*, 256, 323-335.

DEPARTMENT OF MATHEMATICS EDUCATION, DAEGU CATHOLIC UNIVERSITY, GYEONGSAN 38430, REPUBLIC OF KOREA

Email address: hkkim@cu.ac.kr

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

Email address: dvdolgy@gmail.com